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println( 1 + 1 );
println( "1" + 1 );
println( "1" + "1" );
println( 10 );
println( 010 );
println( 10e+l1 );
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BE1 EHEROXDICES U TCHIEHME LIS,

int ans, a=1, b=2;

ROBNERZTUREBDEH ans DIEEZS R0,

(1) ans = a + b;

(2) ans = a - b;

(3) ans = a * b;

(4) ans = a / b;

(5) ans = a % b;

B2 BHERDKLDICESUIC,
int a;

ROENZRTUILKEDE a DIBZB RIS,
(6) a=(int)7;

(7) a=(int)5.5;

(8) a=(int)4.8;

(9) a=(int) (3.5 + 4.8);

(10) a=((int)1.4)*2;
A3 BHZERODKLDICES U TCREMEUIZ,

int ans=1, a=2, b=3;
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(11) ans = a = b;
(12) ans = b = a;
(13) ans += a;

(14) ans -= b;

(15) ans *= ans;
B4 BHERODXIDICEE U THIEAE LIS,
int a=1, b=3;

Z# ans DEESBSZIZI=U)N,
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ROBZNZRTULLBEEAD (true T2 false) ZB RIS,

(16) System.out.println(a == b);

(17) System.out.println((a + 2) != b);

(18) System.out.println(((b - a) < 3) == true);
(19) System.out.println((a / b) == 0);

(20) System.out.println((a = b) == 3);
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(A 5] RIEF—h—RDSBR score (8~100) (int B ZANSEHK
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(1) if(1)sSystem.out.print("A");
(2) if(false)System.out.print("B");{System.out.print("C");}
(3) if(true)System.out.print("D");;System.out.print("E");

(& 25t 14)

(4) if(false)System.out.print("F");else System.out.print("G");
(5) int a=1;
if(a<2)System.out.print("H");
else(a>=2) System.out.print("I");
(6) int a=1;
if(a>2)System.out.print("31");
else{System.out.print("K");}
(7) int a=1;if(a»@){if(a<=1)System.out.print("L");}
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import java.io.*;
class Intermediate5_o0
{
public static void main(String[] args) throws IOException
{
BufferedReader br;
br = new BufferedReader(new InputStreamReader(System.in));
int score;
System.out.println("HRCOBEZHELZTI");
System.out.println("@m (8~100) ZANDL T EEL\");
score = Integer.parselnt(br.readlLine());
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}
}
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